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180 pnuk (3 dw)

11-pn nuuwpub

[ttqhup pninp

UwppwynpnudUbin: NGnhut pnin, pwlnb, annuywnyhl, pnpn, qujwlubp, 2wjpwltn, ptnUtn, rpneph ubndwyuGn:
Uwu 1: 83niugh Unnnyy (5 Uhunjnp)

QLq nmpuduwnpynn pounp pujuluwiht §npn b Lmnp pudupup  sunhn] phdnplwgibinme hwdwp whwp E
oqujkip 1Swiijhg: ®npdtp hunjupl] pwtnting b ounnwwnphyutpny (dwl:
1) QMmpu phptp poinh jupjuémpjutt mdh b (Swih tpiup pwuqlhg Jupugws phnubph Yonh dhol fuwp: (0
o)
Zujuptp Juywipp: Lminp dghjhu npu ympp dhwiquuhg sh hwutmd hp haduwuwpuwlppnipjutt Jhdwlht:
NMuwhwbgymd E npnpwljh nkjwpuhughuyh dwdwbwly, npytuqh Ymnp hwutth hp depptwfut Epljupnipywp:
Ujn wuwndwneny jmpupwisjnip wiqud phn Juubjhu vyuubp Yhu pnubjh upgh dudwbl, dhtsh suhmdtbp
Junwipbip:
Zuwpuynn k, np poinp viwppbp Jupp gmgupkph phintudnpdwt b phintwpunhdw pipwugpnid:
2) Uunpfwbtwpwp phintunpliny, wytinthtnl wunhfwuwpwp pintwpunhbing pmnp jurniglp jupdwbh nidh
Jwpundp pupnipymihg: pudhlh dpu tobp b phntunnpiwl, U phniwpuhdwi phpugpp: (3 Uhunnp)
3) Qubp Ukl phinttunpmu-pintwpwthmu ghiyh pipugpmud wipwndus okpdwpwtimlp: (1 vhunjnp)
Zuynth E, np wnwdquijutt nknudwubpnud, npunkn gnpdmd E ZmYh opkupp Wyniph Ynpunumpymp huduuwp k
k= E% (pwtwalL 1)
Npunkn S-p phdnplwgynn dwpduh upwsph dwlkpbut b, -p nhdnpdwgynn dwpdth Gpljupnipyniip: buly
hudbdwnwljutmpjut E gnpduljhgp Jupdwsd E dhugt ymph wnbuwlhg b §nsymd E 8mbgh dnnmy:
4) Oqukiny unwugwsé gpubhljhg, npnotip nhwnhuk pmnh ymph 8mugh dnpmyp: (1 dhudnp)

Uwu 2: Mniwuntth gnpéwlihg (4 Uhwnp)

Zuywnth E, np mpp htwpwynp sk dqlj/ubnut) dhuytt Ukl wnwtgpny: Lwith np guujugws mnnmpjudp dquwb
htnbwipny wpwowimd L hwljunwl nEdnplughw mnnubuyg mnnmpjudp: Gpk pmnh hwpwpbpuljwut
Epjupugnidp bpwblkup € = %, hull mpudwgsh hwpwpbpulub Epjupugnidp €, = Ad/d, muyu

Utdmpniup nsymd £ Mniwuntth qgnpdwlhg b jupudws b dhuyt nknhut pminh ymph wbkuwlhg:

5) Qunmgkp ntwhuk pmnh Jupduwédph wpudwgsh bhwpwpbpujwt thnthnjumpjut pmnh hwpupkpulwu
tpupugniihg juhjusnipjwt gpudphlp: (3 thunjnp)

6) Oquuytind uwnwugdws gpubhljhg npnotip Wyniph Mniwuntth gnpswijhgp: (1 dhudnp)



Uwu 3: Smunwiunidubp (6 Uhwynp)

busyhbu guujugws Juynit huwjuuwpulppnipjut Uke qninynny hwdwljupgmud wytiybu b wyunkn wnwewunt d
B nmuwnwtimdutin: Swmnwimdubph wuppipmpimup pinhwinip piwpmd npnoymd k

m
T =2m J:
k
pwtwdlny, npntn k-t nupjws k1 pwbwdltny: Uuljuyl, wjunkn oquuwugnpdynn Juywipmu phnubpp Jupdws
skt ntnhuk pmnhg mnnuyh:
7) Quumpbiny T = 2m \/% wpunwhuwynmpnp wpwownpltp pubwal, npm] fupnn knpnoyk) pmnh b
pEnttph hadwlupgh nmunmuimdubph wuppbpmpjwt jujpjuwdmpjnitup pinubph quibqushg: (1,5

dhunjnp)
8) Uwunuwpbiny suhmuubp uwnmgbp Qbp wnwewpljus pwbwdlp: (3 vhwynp)

Unwoupymu t twl Qbp uwnuguws pubtudimd k-t thnjuwphity & = %

9) Oquujtym] twjunpy sunhmudibphg wnmghp, ph Ynounipjwi hunfwp oqunugnpéynn, n'p
wpnwhuynnipiniit L wdbiih hwdwduyibgqus thnpdwpuljut njuyubphts Zhdtwynplip Qbp
yunwuppwip: (1,5 dhunjnp)



